FHEHHRRETHES FRHR

SHI6F04/526H
fRSTE 285.2 t
HR BEMEAH 2315t
F&E kST SZEAE aniE FEM Eik | B4 HR5E RSt %8
=1 HE =1iE FiE &
WA 15.0] €Y 0.0 — — -
AR A FEE 10kg 15.0] 1,944 — 620
5 Bt 0.0 - — —
TiipRAERE 0.0 - - —
B 0.0 — — —
MiGREEE 0.0 —_— J— .
EEMER 0.0 — — ___
AW 15.0{€Y 0.0 — — —
R A weR 10kg 15.0 4,32 — —
[Skzbex: 0.0 — — _
iGREERE 0.0 -_— —_ ___
B 0.0 — — —
miGEEE 0.0 — — .
EEMEE 0.0 — — .
[F< &L 10.0{&Y 0.0 — — —
AR AR /357 12kg 10.0] 1,944 — , 296
5 Bt 0.0 - — —
Tiip AR L 0.0 — - —
& 0.0 — — —
TGRS 0.0 —_ — .
FEMER 0.0 — — ___
FrRY 24.0| Y 0.0 — — —
HR RS el 10kg 24.0] 3,240 — 728
[k 0.0 — — .
TSR L 0.0 - — —
B 0.0 — — —
B RE 0.0 - — -
EEMEE 0.0 — —_ ___
F3hATS 6.1|#Y AR 300 g 0.1 108 — —
R AR WA 200 g 6.0 119 — 1
[Ek7bek: 0.0 — — ___
MG ERE 0.0 — — .
& 0.0 — — -
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
h& 10.0{&Y 0.0 — — —
xRS HAR 5kg 10.0] 2,376 — 404
[5L7ibar 0.0 — — .
ikl EiReS 0.0 — . .
& 0.0 — — —
TS RlE 0.0 - — -
EEMEE 0.0 — —_ ___
=5 4.0[wy 0.0 — — —
R LE] AR 100 ¢ 4.0 86 — -
5 Bt 0.0 - — —
B RIEnE 0.0 - — -
& 0.0 — — -
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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SHI6F04/526H
Rt E 285.2 t
HR BREMEAE  231.5¢
& kST TEAK FniE FEM Eik | B4 B 5 RSt %8
2 BE =iE FiE | ®RiE
LaR 15.0|8Y 0.0 . _ —
XA TR 10kg 15.0] 3,780 -—| 2,700
B B 0.0 - — -
TiipRAERE 0.0 - - —
i 0.0 —_— —_— —
MG EEE 0.0 -— — —
EEREE 0.0 - — -
Ep3Y g.o[ty 0.0 — - __
A xT AR5 AR 5kg 8.0] 2484 — 1,944
[k 0.0 — —_ __
GRCIDERES 0.0 — — —
B 0.0 — — -
TIBRNE 0.0 - — —
EEMEE 0.0 — — ___
Y 6.0|#Y 0.0 — — _
FAXTER5 BHE 350g 6.0 194 -— —
B B 0.0 - — -
Tiip AR L 0.0 — - —
& 0.0 —_— —_— —
TGRS 0.0 —_ — .
FEMEE 0.0 — — _
NEgS 8.0|#Y 0.0 — - _
el mAR 4kg 8.0 1,728 -— —
[k 0.0 — —_ -
iR anE 0.0 - — -
B 0.0 — - -
BRI 0.0 - — —
EEMEE 0.0 — — ___
E—< > 3.0[&y 0.0 — — _
LEESEE] TR 150 g 3.0 130 — —
BB 0.0 - — -
g AR 0.0 - — —
& 0.0 — - -
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
FhLL & 10.0(&Y 0.0 — _ —
HEXTER 5 EREE 10kg 10.0( 2 484 — —
[EkzEek:d 0.0 — — ___
Gt DLTRES 0.0 — —_ -
B 0.0 — - ___
BRI 0.0 - — —
EEMEE 0.0 — — _
rERE 30.0|#Y 0.0 — — _
LESEE] EER 20kg 30.0] 4,104 — —
BB 0.0 - — -
g RIER % 0.0 - — —
& 0.0 — - -
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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SHI6E04526H
R E 285.2 t
HR BEMEAH 2315t
FmB kST SZEAE aniE FEM Eik | B4 HR5E RSt %8
=5 HE =fiE | PiE &
LW 0.7[&v AR 100 g 0.1 140 — —
AEXERS| HAR 100 g 0.6 130 — 65
RIS 0.0 - - —
TSR 0.0 - — —
7 0.0 — — —
MiGREEE 0.0 _— J— .
EEMER 0.0 — — ___
AR 4.0[gy 0.0 — — —
HEXTERSI PN 500 g 4.0 162 — 140
[Skzbex: 0.0 — — _
iGREERE 0.0 —_— —_ ___
5% & 0.0 — _— ___
miGEEE 0.0 — — .
EEMEE 0.0 — — .
SEOH 2.0[ev 0.0 — — -
AR AR /357 200 g 2.0 76 — 32
RS 0.0 - — —
TSR 0.0 - - —
T 0.0 — — —
TGRS 0.0 —_ — .
FEMER 0.0 — — ___
ZIES 1.0|#Y 0.0 — - ___
HEERE AR 4kg 1.0[ 2,160 — 620
[5L7ibar 0.0 — — .
g e 0.0 - _— -
& 0.0 - — -
TSR E 0.0 - — —
EEMEE 0.0 — —_ ___
5¢ NED 0.0 — — -
P L] AR Akg 1.0 2484 — —
A5 B 0.0 - - —
iR 0.0 - — —
B& 0.0 — - —
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
LwAEL 1.0|#Y 0.0 — - ___
HExTERSI PN 150 g 1.0 162 — 108
[5L7ibar 0.0 — — .
ikl EiReS 0.0 — . .
7% i 0.0 _— _— .
MiGEEE 0.0 — — -
EEMEE 0.0 —_ —_ ___
ADEFHT 1.2|#v 0.0 — — -
FExTE S| RHFE 200 g 1.2 76 -— 70
RS B 0.0 - — —
SR ER% 0.0 - — —
B& 0.0 - — —
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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SHI6E04526H
fRSTE 285.2 t
T % BEMEAE  231.5¢
F&E BR5E SZEAE aniE FEM Eik | B4 HR5E RSt %8
=3 BE =iE FiE | ®RiE
TY—2F RIS 1.0[&v 0.0 — — —
AR AR5 AR 100 g 1.0 216 -— 173
R 5 i 0.0 - — —
ISR 0.0 — — -
1 0.0 — - —
MG EEE 0.0 -— — —
EEMER 0.0 — — ___
AE 0.0|&Y 0.0 — — _
AR RS 0.0 — — —_
o B 0.0 — — ___
GRCIDERES 0.0 — — —
A 0.0 — — ___
THiSRIEE 0.0 — - .
EEMEE 0.0 — — .
H=Z—LA R 0.5|&Y 0.0 - _ _
RS KRR 4kg 0.5[ 4,32 —| 2,700
RS i 0.0 - — —
ISR 0.0 — — -
& 0.0 — - -
TGRS 0.0 —_ — .
FEMER 0.0 — — ___
Sl S S 3.0(&y 0.0 — — ___
AR ARG B 200 g 3.0 140 -— —
[k 0.0 — — .
iR RIER % 0.0 - — -
1) 0.0 — — ___
THigRE 0.0 — - -
EEMEE 0.0 — — ___
E533CL 0.0|&Y 0.0 — - —
A% ERE 0.0 — - ___
RS B 0.0 - - —
iR 0.0 — . -
& 0.0 — — —_
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
Joyal)— 2.0|#Y 0.0 _ ___ _
X ERE| fERR bke 2.0 3,888 — —
[EkzEek:d 0.0 — — .
ikl EiReS 0.0 — . .
1) 0.0 — — ___
THinRE K 0.0 — - -
EEMEE 0.0 — — ___
ZOMEE 50.0| &A% -—- 50.0 — - -
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RHI6FE04F26H
fRERE 285.2 t
RE AREEM B A B 48.7+
EE B | mEAZE miE TEE | E® | BE | Gt R
L 8= =fE | FfE | B
HIA 0.0[®y 0.0 - — —
RS LLE] 0.0 - — —
Skl 0.0 — — —
DIk S EES 0.0 — — ___
i 0.0 _— — —
MG EEE 0.0 -— — —
EEMEE 0.0 — — —
L5l 0.0[tvy 0.0 - — —
a3t EE| 0.0 — — —
[k 0.0 — —_ __
GRCIDERES 0.0 — — —
B 0.0 - — —
HiGREE 0.0 — — —
EEMEE 0.0 — — —
YaZ 50[#Y 0.0 —_ — ___
LEESEE] YUAHL EHRE 10kg 5.0 6, 480 — —
kR 0.0 — — —
DIkl ERES 0.0 — — —
& 0.0 -— — —
TGRS 0.0 —_ — .
EEMEE 0.0 — — —
= 15.0[€ Y 0.0 — - -
HEERE AR 20 15.0 324 — 151
[Skzikek: 0.0 — — —
minR R 0.0 — — —
B 0.0 - — —
miSRERE 0.0 — — —
EEMEE 0.0 — — ___
JL—7I7L—y 1.0[&Y 0.0 — —_ -
LEESEE] (9] =] 17kg 1.0 6, 480 — —
5 B 0.0 — — —
minR R 0.0 — — —
B 0.0 - — —
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
NFF 3.0[#y 0.0 — - -
HRTERE] TJ4VEY 13kg 3.0 3,888 -— 3,240
ki) 0.0 -— -— -—
MG 0.0 — — —
B 0.0 - — -
HiGRERE 0.0 — — —
R EMEE 0.0 — — —
LEY 0.5[#vY 0.0 — - -
ST ERE FAUA 17kg 0.5 9,720 — —
[iskzbek: 0.0 — — —
TSR ER% 0.0 — — —
B 0.0 - - —
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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RHI6FE04F26H

fRERE 285.2 t

RE BREE AR A & 48.74

FmB BR5E TEAK FRiE FEM EFh| B4 B 5 HRSE 58
L 8= =fE | FfE | B

A0y 1.0ley 0.0 - — —
LEESEE] T—ILR BER 9kg 1.0 27,000 — —

Skl 0.0 — — —

DIk S EES 0.0 — — ___

i 0.0 —_— — —

MG EEE 0.0 -— — —

EEMEE 0.0 — — —

F L 4.2[ey 0.0 — - -
H%ERE AR 15ke 4.2] 7,560 — —

[k 0.0 — —_ __

GRCIDERES 0.0 — — —

B 0.0 - — —

HiGREE 0.0 — — —

EEMEE 0.0 — — —

FLov 2.0| &y 0.0 — - -
AAERE FAYR 17ke 2.0[ 10,260 — —

kR 0.0 — — —

DIkl ERES 0.0 — — —

& 0.0 —_— — —

TGRS 0.0 —_ — .

EEMEE 0.0 — — —

NAoT7y TN 1.0|&Y 0.0 o -— -—
Bt ERE TA4JEY 10kg 1.0] 2916 — —

[Skzikek: 0.0 — — —

minR R 0.0 — — —

B 0.0 - - —

G & 0.0 — — —

EEMEE 0.0 — — ___

94 TNL—Y 6.0/=Y 0.0 —_ —_ —
LEESEE] Za—U—5UH bkg 6.0 4, 800 — —

5 B 0.0 — — —

minR R 0.0 — — —

B 0.0 — _— —

TG REEE 0.0 —_ — .

FEMEE 0.0 -— — —

Uh 0.0[#v 0.0 - — —
RS E] 0.0 — — .

ki) 0.0 — — —

MG 0.0 — — —

B 0.0 - - —

G E 0.0 — — —

R EMEE 0.0 — — —

ZTDHMEE 10.0| £ A% -— 10.0 — — —
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L HI6LE04526H
HBERFTHE 285.2 t
Z Dk R ESE 50t
EL % | REAR niE TEM | % | B | BE oY
HEF %8 [ SE | 7B | B
Z0tt 5.0| 24 — 5.0 - — —




